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Directions (1-5): f3€ ¢ 9e+ & 3guR, &t 71 g # 7Tad ug J1d Bifere:

Q1. 539, 566, 597, 636, 691, 780
(a) 691

(b) 780

(c) 566

(d) 539

(e) 636
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Q2. 6, 14, 59, 299, 1799, 12599
(a) 14

(b) 299

(c) 1799

(d) 59

(e) 6
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Q3. 7, 27, 237, 279, 783, 858
(a) 27

(b) 237

(c) 279

(d) 858

(e) 783
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Q4. 37, 150, 306, 511, 763, 1062
(a) 150
(b) 1062
(c) 306
(d) 763
(e) 511
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Q5. 4, 2, 3, 6, 16, 70
(a) 6

(b) 2

()3

(d)70

(e) 16
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Directions (6- 15): fAraferfRaa usf &, &Y wefie=or 1 3R 1 2w e g1 <4 Iiezon &t
g B 3R FFaferfaa fawenl & & Sfua s gfAe-

Lx>—5x4+6=0
2— p—
oo 1Y —4y+4=0

(@) x>y
(b) A x<y
(@ dfCx2y
@A x<y
() x=y T x 3R y & oI Ty Rfa e} foran s gepar 8
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QTagsQuadratic Inequalities
QCreatorDeepak Rohilla

L2x2—7x+6=0
o7, 11 15y° = 960

(@ x>y

() I x<y

(©Tfdxzy

(d)AEx<y

() x =y Tl x 3R y & s &y T Tt fovan o Tbelt 8
L1Difficulty 3
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L—=+-==1x

- —
Xvwax XX

II.y? —13 36 =0
08 y y+

(@) x>y

(b) A x<y

(©3fEx2y

(@A x<y

() x=y T x 3R y & &g Fay W et foran s goar §
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.4x>4+18x—-10=0

2
Il ys — z—ﬁ =0
QO. ys
(@) x>y
b)afdx<y
(T xzy
() AEx<y

(e) x=y Tl x 3R y & &7 Jay wifdd e} fvar S goar g
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. ¥343x + V169 =0
010 I1.49y% — 182y + 169 = 0

(a) 'Cl'% X>y

() Aex<y

(©Ex=y

@A x<y
(e)x=ymx3ﬁTy$WWﬂRﬂﬁﬁﬁmWW%
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[.2x2-x-231=0
2 _
- I1.2y% + 43y + 231 =0

(@)Tfdx>y
(b)AEx=y



(Qfex<y

(@A x<y

(e) TfS x = y T Faiey WG T fopam 51wl B
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I.55x% -495x + 1100 =0
oz 11 5y + 10y -120=0

@3 x>y
(b)Adx=2y
(©TEx<y
(@A x<y
(e) T x = y U1 Tay WG &1 fhar o1 I B
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. 9%* -94.5x + 243 =0
3. 11 45y*-13.5y-486=0

(a)tl'%x>y
(b)Adx =2y
(©dfdx<y
@A x<y
(e) TS x = y U1 Ty WG &1 fHar &1 Ibar B
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.x*-87x-270=0
Q14 II.7y* - 11y -18=0

() x>y

(b)Adx =2y

(e x<y

(d)AEx<y

(e) T x = y U1 Way WG =T fhar &1 b 1
L1Difficulty 3
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Lx2—19x +84 =0
2 _ =
o151 ¥> — 25y +156 =0

(a) Zl'% X>y

(b)Adxzy

(@ dfdx<y

(@A x<y

(e) T x = y U1 Yaiy WG &1 fhar &1 I 1
L1Difficulty 3
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Solutions

S1. Ans.(b)
Sol.
Pattern of series is —

539 566 597 636 691 778
| Il Il Il Il
+27 +31 +39 +55 +87
| Il I Il |
+4 +8 +16 +32

Wrong number = 780
Right number — 691 + 87 =778

S2. Ans.(e)
Sol.
Pattern of series is —

14 59 299 1799 12599
Il | Il Il |
x3+2 x4+3 x5+4 x6+5 x7+6

So wrong number = 6
14-2

Right number = 4

S3. Ans.(d)
Sol.
7 27 237 279 783 855

[ Il Il Il Il
+20 +210 +42 +504 +72

r1rTr *+ 1 1

5%2-5 6°-6 7%-7 8°-8 9%2-9

Wrong number is —858
Right number = 783 + (9% - 9) = 855



S4. Ans.(a)

Sol.
Pattern is —
37 306 511 763 1062
I Al Al Al A
111 158 205 252 299
I Al Al Al A
47 47 47 47

Wrong number is — 150

S5. Ans.(d)

Sol.

Pattern is —

4 2 3 6 16 [69]
I Al Al A Al ’

x%+1 x%+2 x1+3 x2+4 x4+5

Wrong number = 70

S6. Ans.(c)
Lx?—bx+6=0
(x—3)(x—-2)=0
=2x=372
ILy? —4y+4=0
y=272

Sol.xaj’"

S7. Ans.(e)
L2x2 —7x+6=0
=2y —4x—-3x4+6=0
=22x—3)(x—-2)=0

3

= X = E,E
IL y® = 64
y=312

Sol. No relation

S8. Ans.(d)



Lx2=16
=x=44
ILy?—13y+36=0

= -4y -9 =0
=y=49

Sol. V =%

S9. Ans.(e)

L4x% +18x—10=0

2x24+9x—5=10

=2x24+10x—x—-5=0

=2(x+5)2x—-1)=0

= x=—5-
- 2

ILys — 2 =0

V5
y2 =25
= y=4b

No relation
Sol.

S10. Ans.(b)
L7x+13 =10

= x=——
7

IL(7y —13)* =0
13

:‘}':7

=X
Sol. )

S11. Ans.(b)
L2x*-x-231=0
= 2%x% - 22x +21x-231=0
=22x(x-11)+21(x-11)=0
= (x-11)(2x+21)=0
-21
= XK= 11'?
IL 2y + 43y +231=0
= 2y° + 22y + 21y + 231=0
=2y (y+11)+21 (y+11)=0
=(y+11) (2y+21) =0
=21
:'y:—llJT

=
Sol.X_F



S12. Ans.(b)
I 55x% - 495x + 1100 =0
¥ —9x+20=0
=x°-bx-4x+20=0
=(x-5)(x-4)=0
=x=54
IL 5y° + 10y - 120 =0
=y +2y-24=0
=y +6y-4y-24=0
= (y+6) (y-4)=0
=y=4, -6
Sol.* =Y
S13. Ans.(e)
.9x* -94.5x + 243 =0
=x°-105x+27=0
=x°-6x-45x+27=0
= (x-6)(x-45)=0
=2x=645
II. 4.5y - 13.5y - 486 =0
=y -3y-108=0
=y*-12y+9y-108=0
=(y-12)(y+9)=0
=y=12,-19
5ol NO relation

S14. Ans.(e)



Lx*-87x-270=0
=x-90x+3x-270=0
=2x(x-90)+3(x-90)=0
=(x-90)(x+3)=0
=x=190,-3
IL7y*-11y-18=0

=7y - 18y + 7y - 18=0

=y (7y-18)+1(7y-18)=0

= (7y-18) (v+1)=0
18
T

No relation
Sol.

=y=-1,

S15. Ans.(d)
Lx*-19%x+84=0
=x°-12x-7x+84=0
=(x-12)(x-7)=0
=x=12,7
ILy* - 25y +156=0
=y*-13y-12y+ 156 =0
=(y-13)(y-12)=0
=y=13,12

N
Sol.



